


Compressor Housing stahe 2 and 3 * no illustratedt

ltem Description NO.
1* |Compressor Housing stage 2 and 3 with components 6.00.00
3* |Compressor Housing stage 2 and 3 complete with zinc protection 6.10.00
4 |compressor housing stage 2 and 3 with stud bolts 6.10.01
5 |stud bolt M 12 X 26 1.10.04
6 |stud bolt M 12 X 30 410.10
7 |stud bolt M 12 X 32 1.10.14
8 |stud bolt M 12 X 60 6.10.15
9 |cover plate 3.10.12
10 [gasket 3.10.13
11 |hexagonnut M 12 1.10.05
12 |[screw adapter 1.10.06
13 |gasketring A30 X 36 (copper) 1.10.07
14 |[screwplugM 18 X 1,5 11.75.11
14a* |gasket ring 18 X 22 (copper) 14.25.02
15 |Zinc Protection complete 1.11.00
16* |Compressor Liner stage 2 complete 6.12.00
18 |compressorliner stage 2 6.12.01
20 |[Ball Disk Valve complete 4.20.00
21 |rubber seal o-ring 6.12.02
22 |gasket ring 6.12.03
23" |Lubricating Oil Connection Piece complete 6.13.00
24 [lubricating oil connection piece 6.13.01
25 |hexagon nut M 20 1.16.02
26 |ringdisk21 X 35X 3 1.16.03
27 |rubber seal o-ring 1.16.04
28 |gasketringA12X 18 1.16.06
29 |vent screw 12.91.40
30 |[gasketring A10X 16 X 1,5 (Fiber) 12.91.41
31 |housing gasket 3.10.02
32 |hexagon screw M 12 x 40 3.10.05
33 |hexagon screw M 12 X 45 3.10.19
(11) |hexagonnutM 12 1.10.05
34 |lubricating oil pipe fittings see 13.00.00
35 |cooling water pipe to cooler stage 1 see 12.91.59
36 |cooling water pipe from stage 3 to stage 2 see 12.91.60




	6_Compressor housing stage 2 and 3_02
	6_Compressor housing stage 2 and 3_ET_02

